May 26, 2025

Congratulations on your child's successful year in First Gradel!

We are sending with your child a Math review packet, which
consists of Chapters to work on over the summer. Bring summer

packet completed the first day of school.

During the summer, set aside time for your child to read
every day. Visit your local public library and checkout books.

Encourage your child to start writing in a Journal.
Blessings,

First Grade Teachers
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Unit | Assessment

Circle the sum. ¢ 12
Underline the difference. .1

L H+9=13

Write how many.

3. How many bears? i3z

2 bears and | more bear bears

Circle the part you are taking from, or separating from, the
group. Then cross it out. Write how many there are now. sxs13s
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There are 5 zebras.
3 zebras walk away.

How many zebras are there now? zebras now
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TEXAS Test Prep
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Which shows a number she
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hoose the correct answer.
il. Which of these is in order from least

[2. Which number could belong at the dot

13. Which shows how many
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i to show 6 + 2.

to show 9 + 1.
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2. to show 6 — 2.
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to add and to subtract.
4. What is 9 — 37

5

So 9——3: ' So

Use the words in the box to complete the sentence.
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count on
count back

. What is 10 — 6? wrsiio

Think =~ 3 + =9 Think > & + ="}

g e,

&5
el

s ‘-.»\.“'l

2

G
8
iy,
B}

£33

v,

ng

J—

T

S e L N
SreaiEon IS G
SR "'4. 2
o % L
K .

5

LRy
Kot »“l“?}\n z

e

)



oromm e
X S
s «wfh.,.m.m o
TS e
A RS SRR AR

TEXAS Test
y.

ins

d

She needs I5 for a part
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has the same value?
How many more cupcakes does she nee

3. Brandy has 2 d
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i5. Allissa has 12 cupcakes
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Write to complete the related facts. .4
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Complete the model and the number sentence.

2. Alli has 10 grapes.
She eats 5 grapes. 3]

How many grapes does
she still have? %150

10— 5

Count forward by ones. Write the numbers. &

3. 35, 36,
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Choose the correct answer.

{0. There are |12 deer in the woods. Seven
of the deer run away. Five deer are
left in the woods. Which fact can you
use to check the subtraction? sresisseisc

O

6+9=15
2 4+5=17
g J =k

i. Which is the unknown number?
B TEKS 1.5F 156G

+8=17
|7 -8 =

i2. Tamara has 3 dolls. Kelly has 7 dolls.

How many fewer dolls does Tamara
have than Kelly? s rs1s0

[3. Which number shows expressions of
equal value?

6+ 3=

I%. Amy has 7 gifts. Then she gets
2 more gifts. Then she gets
3 more gifts. How many

does Amy have?
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equal parts
unequal parts

3. Circle the shapes that can combine
to make the new shape.

. Draw a line under the objects that have
both flat and curved surfaces. st
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5. Draw lines fo show 2 equal parts. sres 66 16
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O [0 o'clock
O Y o'clock
O 12 o'clock
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i3. What time is it? sresie

O 6 o'clock
O half past 12
O 12 o'clock

it. Which solid has 9 edges? e 1ee

O the straw is shorter so it uses more units

O the sfraw is longer so it uses fewer units

O the straw is the same length so it uses
he same number of units
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i. Circle the picture graph. ;o

_ Our Favorite Juice

L J

01 23456 7
Number of Children

Use the graphs above to answer the questions. s 1sc

3. Use the picture graph to write a question.

‘. Use the bar graph to write a question.

5. How many more children chose

Ry

. Which juice did more children
choose? Circle it.
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Choose the correct answer.

0. How many more days this month

had | than

clouds

sun
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O 5 more days O Hmoredays O || more days

[l. Sam makes a tally chart to show

how many cars and trucks he has.
Which group of tally marks shows
how many cars Sam has? s s
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